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1.Preparation of consolidated financial statements when a parent-subsidiary relationship exists is an
example of the
A) economic entity assumption.  B) relevance characteristic. = C) comparability characteristic.
D) neutrality characteristic.

2.Korte Company reported the following information for 2011:

Sales revenue $500,000
Cost of goods sold 350,000
Operating expenses 55,000
Unrealized holding gain on trading securities 20,000
Cash dividends received on the securities 2,000

For 2011, Korte would report comprehensive income of
A) $117,000. B) $115,000. C) $97,000. D) $20,000.

3.Rosalie Corporation is located in London but does business throughout Europe. The company
builds and sells equipment used in manufacturing pharmaceuticals. On December 31, 2011,
Rosalie has trading securities valued at £42,000; goodwill valued at £300,000; prepaid insurance
valued at £24,000; patents valued at £140,000; and a customer list valued at £260,000. On
Rosalie Corporation’s statement of financial position at December 31, 2011, what amount should
be reported as intangible assets?
A)£742,000 B)£700,000 C)£766,000 D)£440,000

4.Caroline, Inc. had the following transactions during 2011:
Exchanged land for a building £382,000

Purchased treasury shares 80,000 R E % MR IETEJ J)
Paid cash dividend 190,000 Exam Printed on 2 sides.
Purchased equipment 106,000
Issued ordinary shares 294,000

What is Caroline, Inc.’s net cash provided (used) by financing activities?
A)£300,000 provided by financing activities. B)£24,000 provided by financing activities.
C)£24,000 used by financing activities. D)£214,000 used by financing activities.

5.If a company purchases merchandise on terms of 1/10, n/30, the cash discount available is
equivalent to what effective annual rate of interest (assuming a 360-day year)?

A)1% B)12% C)18% D)30%
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6.Smithson Corporation had a 1/1/10 balance in the Allowance for Doubtful Accounts of $10,000.
During 2010, it wrote off $7,200 of accounts and collected $2,100 on accounts previously written
off. The balance in Accounts Receivable was $200,000 at 1/1 and $240,000 at 12/31. At 12/31/10,
Smithson estimates that 5% of accounts receivable will prove to be uncollectible. What is Bad
Debt Expense for 20107
A) $2,000. B) $7,100. C) $9.200. D) $12,000.

7.The cash account shows a balance of $45,000 before reconciliation. The bank statement does not
include a deposit of $2,300 made on the last day of the month. The bank statement shows a
collection by the bank of $940 and a customer's check for $320 was returned because it was NSF.
A customer's check for $450 was recorded on the books as $540, and a check written for $79 was
recorded as $97. The correct balance in the cash account was
A) $45,512. B) $45,548. C) $45,728. D) $47,848.

8.Dub Dairy produces milk to sell to local and national ice cream producers. Dub Dairy began
operations on January 1, 2011 by purchasing 840 milk cows for $1,176,000. The company
controller had the following information available at year end relating to the cows:
Milking cows

Carrying value, Januaryl, 2011 $1,176,000

Change in fair value due to growth and price changes 365,000
Decrease in fair value due to harvest (42,000)
Milk harvested during 2011 but not yet sold $54,000

On Dub Dairy’s income statement for the year ending December 31, 2011, what amount of

unrealized gain on biological assets will be reported?

A) § -0- B) $365,000 C) $54,600 D) $323,000
9.The following information is available for October for Barton Company.
Beginning inventory $ 50,000
Net purchases 150,000 A % YT ENTRY
Net sales 300,000 LExam Printed on 2 sides.
Percentage markup on cost 66.67%

A fire destroyed Barton’s October 31 inventory, leaving undamaged inventory with a cost of
$3,000. Using the gross profit method, the estimated ending inventory destroyed by fire is
A) $100,000. B) $77,000. C) $80,000. D) $17,000.

10.Bell Inc. took a physical inventory at the end of the year and determined that $475,000 of goods
were on hand. In addition, the following items were not included in the physical count. Bell, Inc.

2




S8 KZ 101 5B RpE LR 4 &%
LE¥FTELLBELHELE  BAELLE 2@ L

% —
34
%3 A#£SAMRAERAEL) —earrrrym

determined that $60,000 of goods were in transit that were shipped f.0.b. destination (goods were
actually received by the company three days after the inventory count).The company sold
$25,000 worth of inventory f.o.b. destination. What amount should Bell report as inventory at the
end of the year?

A) $475,000. B) $535,000. C) $500,000. D) $560,000.

11.Hardin Company received $40,000 in cash and a used computer with a fair value of $120,000
from Page Corporation for Hardin Company's existing computer having a fair value of $160,000
and an undepreciated cost of $150,000 recorded on its books. The transaction has no commercial
substance. How much gain should Hardin recognize on this exchange, and at what amount
should the acquired computer be recorded, respectively?
A)$0 and $110,000 B)$769 and $110,769 C)$10,000 and $120,000 D) $40,000 and $150,000

12.At the beginning of 2010, Winston Corporation issued 10% bonds with a face value of $600,000.
These bonds mature in five years, and interest is paid semiannually on June 30 and December 31.
The bonds were sold for $555,840 to yield 12%. Winston uses a calendar-year reporting period.
Using the effective-interest method of amortization, what amount of interest expense should be
reported for 2010? (Round your answer to the nearest dollar.)

A) $66,500 B) $66,901 C) $66,700 D) $68,832

13.0n January 1, 2011, Gridley Corporation had 125,000 shares of its $2 par value ordinary shares
outstanding. On March 1, Gridley sold an additional 250,000 shares on the open market at $20
per share. Gridley issued a 20% share dividend on May 1. On August 1, Gridley purchased
140,000 shares and immediately retired the shares. On November 1, 200,000 shares were sold
for $25 per share. What is the weighted-average number of shares outstanding for 20117
A) 510,000 B) 358,333 C) 375,000 D) 258,333

14.Bear Co. purchased $500,000 of bonds at par. Bear management has an active trading business
model for this investment. At December 31, Bear received annual interest of $20,000, and the
fair value of the bonds was $470,400. In Bear Co.’s year-end statement of financial position what
amount will be reported for the bond investment and how much total income/loss will be
reported on its income statement?

Statement of financial position Income statement

A) $500,000 $20,000

B) $470,400 $20,000 ~ ,
A% S R SR T I ELI R

C) $470,400 $49,600 Exam Printed on 2 sides.

D) $470,400 ($9,600)
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15.Myers Co. acquired a 60% interest in Gannon Corp. on December 31, 2010 for $945.,000.
During 2011, Gannon had net income of $600,000 and paid cash dividends of $150,000. At
December 31, 2011, the balance in the investment account should be
A) $945,000. B) $1,305,000. C) $1.,215,000. D) $1,395,000.

= ~ Balthus Corp. reports the following components of stockholders’ equity on December 31, 2011.
Common stock—$1 par value, 320,000 shares authorized.

200,000 shares issued and outstanding . . . . ... .. e $ 200.000
Paid-in capital in excess of par value, common stock ... . ... ... .. 1,400,000
Retained earnings .. ......... ... ... ... ... .. ... . ... . .. 2.160,000
Toual stockholders’ equity .. ....... ... ... .. .. .. ... ... . ... $3.760.000

It completed the following transactions related to stockholders' equity in year 2012,

Jan.10  Purchased 40,000 shares of its own stock at $12 cash per share.

Mar. 2 Directors declared a $1.50 per share cash dividend payable on March 31 to the March 15
stockholders of record.

Mar. 31 Paid the dividend declared on March 2.

Nov. 11 Sold 24,000 of its treasury shares at $13 cash per share.

Nov. 25 Sold 16,000 of its treasury shares at $9.50 cash per share.

Dec. 1 Directors declared a $2.50 per share cash dividend payable on January 2 to the December

10 stockholders of record.
Dec. 31 Closed the $1,072,000 credit balance (from net income) in the Income Summary account
to Retained Earnings.

Required(25%)

1. Prepare journal entries to record each of these transactions for 2012,

2. Prepare a statement of retained earnings for the year ended December 31, 2012.

3. Prepare the stockholders' equity section of the company's balance sheet as of December 31, 2012,

= -~ Presented below is the income statement of Cowan, Inc.:

Sales $380,000

Cost of goods sold 225.000

Gross profit $155,000 2 o
Operating expenses 85.000 ?g :ﬁ;% {%FEEURU
Income before income taxes 70,000 Xam Trinted on 2 sides.
Income taxes 28.000

Net income $ 42.000
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In addition, the following information related to net changes in working capital is presented:
Debit Credit
Cash $12,000
Accounts receivable 15,000
Inventories $19,400
Salaries payable (operating expenses) 8,000
Accounts payable 12,000
Income tax payable 3,000

The company also indicates that depreciation expense for the year was $16,700
Required(15%)

Prepare a statement of cash flows from operating activities by using the direct method.

g TSNS FanihE — % HAAAA $160,000 "AEMRSE S HE > 5%ER $10,000
WERBHRREHRSIERINVE - KA\ NI LEBBHNNELERRHNEE - B
% x6 FRIEWMABXEAEMESL $75,000 5 FLFEMEA $70,000 -

#AE ¢ (15%)
(1) x6 5237 % RIE 05k -
(2) X7 FRITE H L HEIERIERRE > AEN A $10,000> FAFERAKT 3 4 B
X7 R 28 58k AT ?
B) FaSAEXT F/& > RS REZERAFIIAFLEREY  FHBUCLELHA
BE T FRIRBZERBES $30,000 0 F 0 FEMES $35,000 > 34k X7 £ &
Z_RAE B 5k -
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End of exam




